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How much does she spend altogether?

Answer: ¢

(b) Mr Bevan’s train ticket cost
He pays with three £50 not

eS. See over for details
How much change should he receive?

e

S £117.28

Answer: £

(c) Cheese Costs 86 pence Per 100 grams.
What is the cost of 450 grams of cheesg?

Answer: ¢

(d) Adozen duck eggs cost £3.24 in total.
What is the cost of one duck egg?
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2. (a) (i) Write 0.725 as a percentage.

ANSWET: e, % (1)
(i) Write £2 as a decimal.
ANBWEE! asscivissinsmmesmmmmsmssummessses (2)
(b) Calculate 2 of £50
ANSWer: £ ..o (2)

(c) Write 375 metres as a fraction of 1 kilometre in its lowest terms.

Answer:
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3. (a) Caleulate 2% — 12

(b) (i) Write 300 as the product of prime factors, using indices.

(if) What is the smallest whole number by which 300 must be multiplied to give a

cube number?

4. (a) Calculate 12 - 6+2) +4x02

(b) Jack chooses a number, doubles it and then squares the resuylt.

What number does Jack choose if his final answer is 121 ?
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5. (a) A box contains 435 grams of dates.

How many kilograms of dates are there altogether in
24 of these boxes?

BINSWET winssosssssseisiisiiossnsmes kg (3)

(b) There are 12 identical bottles of wine in every case.

Carol the caterer buys one and a half cases, which gives
her 13.5 litres of wine.

How many millilitres of wine are there in one bottle?

ANSWEr: oo, ml  (3)
6. Simplify
(i) 4a® — 7ab — 2ab + a°
ANSWEr: ..., (2)
(i) 3a°b x 2a°b
ANSWEI cussininssssnmissmammmmmsssmmsosmns (2)
3,3
iii)y (2a7)”
() 4a
ANSWEr: ...oocoveiiiiiiii (2)
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7. Multiply out the bracket and simplify

7—4(2a+ 1) + 3a

ANSWEL: e

8. (a) Giventhat a=3 b=-2 c¢c=-5 and d=1 findthe value of

(i) 3a — bc

ANSWEL coiriieeeeieeeeieee s
(i) 28° + 2d°

ANSWEL: e
. d—C
iii
(i) 2=

ANSWET: e

(b) The volume of a pyramid, V, is given by the formula

=
V=gzAh

where A is the base area and h is its height.
Calculate h when V = 256 and A = 48

ANSwer: B = .
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9. Lily uses these ingredients to make strawberry sorbet:

For 6 people 300 millilitres water
100 grams sugar
450 grams strawberries
2eggs.

(i) Calculate the ingredients needed to make this sorbet for 15 people.

ANSWET: oo, ml water
...................... g sugar

............. g strawberries

10. (a) Babs drinks % of a pint of juice each day.
How many pints of juice will Babs drink in 10 days?

ANSwer: ......c..ooooiiiiei, pints  (2)
(b) Every day Hal uses % of a kilogram of grain to feed his E’ 5
chickens. AT S
For how many days will a 24-kilogram bag of grain last Hal’s
chickens?
ANSWET: oo, days (2)
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11. YA

On the grid above
(i) (a) draw and label the line y=x (1)
(b) reflect shape Ain y = x and label the image B (2)
(ii) rotate shape A through 90° clockwise about the point (1, 1) and label the image C (2)

(iii) draw another shape so that all four shapes form a pattern which has the line of
symmetry y =1 and label the shape D (2)
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12. Calculate the size of each of the angles marked a . b,c,dand e.

not to scale

ANSWET: 8= ... O (1)
B Gianmmemmmmsmesnosess D 2)
5 spemps i nssracnss O (1) |
R D )
S 0 2)
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13. Mr Archer grows vegetables on his 90 hectare farm as follows:

carrots 14 hectares
cauliflowers - 36 hectares
onions o 19 hectares
potatoes 21 hectares

Mr Archer wants to show this information in a pie chart.

() How many degrees will represent 1 hectare?

Answer:

(ii) Draw a fully-labelled pie chart to show this information.
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The following year Mr Archer keeps the same area of carrots and potatoes but replaces
the area of onions with mare cauliflowers,

He draws a new pie chart.

(i) What fraction of the new pie chart will represent cauliflowers?
Give your answer in its lowest terms.

14. Joe has three cards.

One card has the digit 1 written on it, another has the digit 2 written on it and the last
has the digit 3 written on it.

Joe places three cards in a row to make a three-digit number.

(i) Write down all the possible numbers which Joe can make using all three cards in

2J3)1]

PTISTEEE o voms 1055 B TR s e e s AR 556 5 B B RS S (2)

(if) What is the probability that the three-digit number he makes is a multiple of 67

ANSWET oo (1)

(i) What is the probability that the number is prime?

(iv) Joe places the three cards in a row face down at random.
Sue guesses what number will be shown when all three cards are turned over.
What is the probability that Sue is incorrect?

ANSWET: oooveviiiiiiiiieee (1)
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15. (i) (a) Forthe equation y=2x- ¢

(i) what is the value of y when x = 0?

2t at T A ———

(if) what is the value of x when y = 27

ANSWET: X = oo

(b) On the grid opposite, draw and label the graphof y=2x-6

(i) (a) Forthe equation y =6 — x? complete the table of values below.

X -2 -1 0 1 2 3

y 5 -3

(b) On the grid opposite, draw and label the graph of y=6— x°

(iii) Write down the co-ordinates of the point with a positive x-coordinate where the line
and curve intersect.
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16. In this question 2 adjacent dots are joined by a line.
Look at these three patterns.

I I [
pattern 1 patten 2

I I
pattern 3

(i) Draw pattern 4 on the grid below.

(i) Complete the table below.

pattern number 1 2 3
number of lines 6 11
number of dots 5 11
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(i) How many lines are there in pattern 82

(iv) Which pattern has 50 dots?

ANSWET: oovvieeiiieee e (2)

(v) In which pattern is the sum of the number of lines and the number of dots equal to
1477

ANSWET oooiveiiiieieeeeeeeee (2)
(vi) In one pattern, the difference between the number of lines and the number of dots
is 25
How many lines are there in this pattern?
ANSWEr: ..o (2

(Total marks: 100)
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